Class XII Chapter 7 - Integrals Maths

sin 2x
Answer

The anti derivative of sin 2x is a function of x whose derivative is sin 2x.It is known that,

i{cns 2x)=-2sin2x

dx
—=s5in2y= li(cm; 2x)
dx
. Fo A
Co8in2x = i ——cos 2y |
dvl 2 J

. . 1
sin2x is ——cos2x
Therefore, the anti derivative of

Cos 3x
Answer
The anti derivative of cos 3x is a function of x whose derivative is cos 3x.

It is known that,

iI::s;in 3.r}= 3cos3x

dx

= Ccosdx = 1 4 {sin_?.r]
3 dx

. d [1 . 3
Se0s3xy=—| —sin3x

efx J

N
cos3x is —sin3x
Therefore, the anti derivative of

er

Answer
The anti derivative of e**is the function of x whose derivative is e**.

It is known that,
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d ;oan .
EEL J=2r:‘

Sl 2 J
2r 1 ix
e s —¢g
Therefore, the anti derivative of 2
(ax+b)
Answer
The anti derivative of (m-'_h] is the function of x whose derivative is (m-'_h] .

It is known that,

il:a.r i .’J}; =3a( ax + h}l
dx '
= (ax+ h}1 :Li{ax | bj‘:
' Ja dx

a dil 43

Slax+b)y =—| —(ax+b
( } cir[Ec:{ ) ]
[frx+|")]|'1 is L{J:J'J:+.FJ}1

Therefore, the anti derivative of 3a

sin 2x — 4e™”
Answer

sin 2x — 4e™
{ ) is the function of x whose derivative is

The anti derivative of
{sin 2x —4:33")

It is known that,
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{
daf 1 COs lt—ier‘” ) =sin2x—4e™
dx 3

- ¥ —— 2x——e"
sin2x—4e [ cos ]
Therefore, the anti derivative of { ¢ )is 2 3 .

Question 6:

f[4e3 Yl }dx

Answer

j‘[éhe'1 "+ 1

=4 Ie“ v + J]d.r

4[‘?.\.t ]+I+C
3

= 49"” +x+C
3

Question 7:

I.r’ [I—J{Lj dx

5 1
I.r []_x_j,{ir
= {x:—l]aﬁ:
= j.r:d.r— jld\:

=X _yicC
3

Question 8:
ﬂaxz +hx+ c]u{t

Answer
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ﬂaxz +hx+ c]u{t
=qa Jx"dx +b dex +¢ II e

_ a[i] 5["—_J rex+C
3 2

ax’ by’ .
= T+—+4:?:c+lL.

Question 9:
I[Ex3 +€*)u¢t

Answer

'[[23:2 +e )dx

=2 I.r:dx + J‘e”dr

:2[£}+e" +C
3

= 2_'r"'+r3’“'+1’.:‘
3

Question 10:

f—é}zdx

= jxa’x+ j%dx -2 II e

= +logl|-2x+C
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Question 11:

Ixj +5x° - 45}5{

]

X

Answer

jﬂxj + 5.;(2 - 4.9',1'

X
= J{x+5—4x':)dx
= J'mfx+5_[| .dx—4jx'3.s£r
EESP 4["_|]+c
2 -1

=X el
X

Question 12:

J-r +3r+4

Answer

o +3x+4
ik
e

5 | 1
= _[(.rj +3x? +4x E}ci'r
3 |

T 3 + I +C
2 2
3 I

Ta2x 4842 4C

[ =H_'||:.<
ey

-l

~4|M ~=.1|

7

x? +?T +EJ§+L
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Question 13:

—dx

Oex+x-1
f x=1

Answer

ij —xt -1
— X
x—1

On dividing, we obtain

= J{x: + I)dr
= szdx + jldx

:£+x+(1
3

Question 14:
I{I —x]v'r;dfr

Answer

I[I —x]v'f;r;ir

Ao

= I.récix— Jx;dx

3 3

Question 15:
j‘-ﬂ(}x: -+ 2.r+3}dx

Answer
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j‘w'";(‘?x: + 2.r+3}dx

5 i 1
= J(Exz +2x? +3x7 ]ﬂ’x

= SIx;dx + foidx + 3Ix*icir

Question 16:
j‘[lx— 3cosx+e" )y
Answer

I[Z,t—,‘rcosx +e‘)dx

=2 I.m‘x -3 Icos xelv+ J.e'T dx

-

:%—3{sinr}+e"+c

=x'-3sinx+e +C

Question 17:
j'[zf —3sinx+ S\G)dx
Answer

j'[zf —3sinx+ S\G)dx
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=2 J-xzdx—E sin xelx + ijlldx

[

:zji—B{—cosxﬁS % +C

2

2, 10
==—x +3cosx+ ?_rz +C
Question 18:

Isec x(secx+tan x)dx
Answer

Isec x(secx+tan x ) dx

= j( sec’ x+sec xtan x) dx
= Imz xdx + _[scc xtan xdx

=tan x +secx+C

Question 19:

3
secT X
[ 4

cosec’x
Answer
sec” x
f —dlx
cosec’x
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1
N J
_ jmsl. X
sin” x

dx

=2
jsm X
cos” x

= Itan] xely
= I(sec: x—l].-.ir
= j53c3 xdy — J] dx

=tanx—-x+C
Question 20:
2-3sinx
(RS g
cos” x
Answer
2-3sinx
[A3sing g
cos” X

2 3sinx
= - — |
cos™ X Cos X

= jE sec” xdx -3 j-lan xsec xdx

=2tanx —3secx+ C

Question 21:

5

The anti derivative of

1 1 .
I .
X*+2x*+C x+—x+C

(A) 3 (B) 3
3 1 i 1
z.r1+2x3 +C 3.r1+ x*+C
(c) 3 (D) 2
Answer
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{ 1 A
\E+—de
W

= j:r;ca’.'r+ I.‘r ;a’x
3 1

; _1.2
=—4+—+C

1

2

3 |
¥ +2x*+C

Hence, the correct Answer is C.

i_;"{x}:%‘x" —
If dx X" such that f(2) = 0, then f(x) is
cal120
(A) 8 (B) 8
4 1 129 s 1129
X — X ——
(C) X § (D) X 8
Answer
It is given that,
d ., 3
— flx)=4x ——
dlx j{ } x!
-2 = f(x)
~Anti derivative of X
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ey = [at 3,
..j{.r}—j4.r r_.u{r

Flx)=4|xdx —_Bj(x'4 et

r-;“. f’x-j
_f'{x]:nl[' J—3| ]+C
I i
flx)=x"+ 1} +C
X
Also,
f(2)=0
4 |
L (2)=(2) +—5+C=0
(2)
:‘-16+l+f::{]
8
:;-C:—[Ifwl]
]
C:—IQQ
B
1129
f{x]—x +x} A

Hence, the correct Answer is A.
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